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QUESTION 1

Click the Exhibit button.

EBGP EBGP

IBGP

AS 65001

You are configuring BGP policies for a site with a dual-homed connection as shown in the exhibit. You must ensure that
inbound traffic from Internet hosts flow through the ISP A connection.

Which statement is correct in this scenario?

A. Apply a BGP export policy to R2 to prepend [65001 65001 65001 65001 65001] to the AS path of routes advertised
to ISP B.

B. Apply a BGP export policy on R1 to assign a lower MED value to routes advertised to ISP A.

C. Apply a BGP export policy on R2 to assign a lower origin value to routes advertised to ISP B.

D. Apply a BGP export policy on R1 to assign a higher local preference value to routes advertised to ISP
A

Correct Answer: A

QUESTION 2

You are implementing a single spanning tree instance in your network and want to use the protocol that will give you the
best convergence time in the event of a physical network failure of the root bridge.

Which spanning tree protocol will satisfy this requirement?

A. RSTP
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B. STP
C. MSTP
D. VSTP

Correct Answer: A

QUESTION 3

Click the Exhibit button.

fmaster:0}y [edit]
userfrouterf show firewall three—color—-policer main—-policer
action {

loss—priocrity high then discard;

}

single-rate{
color—aware;
committed-information-rate 40m;
committed-burst—-size 100k;
excess-burst-size 200k;

You have configured and applied the policer shown in the exhibit to your Junos device. Which statement is true in this
scenario?

A. Traffic exceeding the committed-burst size will be marked with a loss priority of high.
B. Traffic exceeding the excess-burst size will be discarded.

C. Traffic exceeding the committed-information-rate will be rate limited.

D. Traffic exceeding the committed-burst size will be discarded.

Correct Answer: A

QUESTION 4
What information is contained in an OSPF LSA header? (Choose two.)
A. options

B. subnet mask
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C. length
D. protocol

Correct Answer: AC

QUESTION 5

Click the Exhibit button.

10.100.1.0/30

100.0.0/16

userf@R2> show route 100.0.0.0/16& terse

inet.0: 1400327 destinations, 14000327 routes (1400032¢ active, 0 holddown, 1 hidden)
+= Actiwve Route, — = Last Actiwve, * = Both

A V Destination B prf Metric 1 Metric 2 Next hop A5 path
* 100.0.0.0/24 I 165 100 »10.254.31.2

B 170 100 >10.254.31.2 i1
* 100.0.1.0/24 16N 100 »>10.254.31.2

B 170 100 >10.254.31.2 1
* 100.0.2.0/24 I 165 100 »10.254.31.2

B 170 100 >10.254.31.2 e
* 100.0.3.0/24 I 165 100 »>10.254.31.2

B 170 100 »>10.254.31.2 I
* 100.0.4.0/24 I 165 100 »10.254.31.2

B 170 100 »>10.254.31.2 I
* 100.0.5.0/24 I 165 100 »10.254.31.2

B 170 100 >10.254.31.2 15

Referring to the exhibit, you must advertise the 100.0.0.0/16 routes from AS1 to AS2, but R2 is not advertising any BGP
routes to R5.

Why is this happening in this scenario?

A. The IBGP routes will not be advertised because you must use a policy to advertise IBGP routes.
B. The IBGP routes are not active and EBGP will advertise only active routes.

C. The IBGP routes will not be advertised because the AS path shows as incomplete.

D. The IBGP routes are not active because the next hop is not reachable.

Correct Answer: B

Latest JINO-648 Dumps | INO-648 Exam Questions | INO-648 Braindumps 41/5


https://www.pass4itsure.com/jn0-648.html
https://www.pass4itsure.com/jn0-648.html
https://www.pass4itsure.com/jn0-648.html

VCE & PDF https://www.pass4itsure.com/jn0-648.html
2024 Latest passditsure JN0-648 PDF and VCE dumps Download
PassditSure.com

Latest JNO-648 Dumps JNO0-648 Exam Questions JNO0-648 Braindumps

Latest JINO-648 Dumps | INO-648 Exam Questions | INO-648 Braindumps 5/5


https://www.pass4itsure.com/jn0-648.html
https://www.pass4itsure.com/jn0-648.html
https://www.pass4itsure.com/jn0-648.html
http://www.tcpdf.org
https://www.pass4itsure.com/jn0-648.html
https://www.pass4itsure.com/jn0-648.html
https://www.pass4itsure.com/jn0-648.html

